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PART - III

seflClumiufwes / COMPUTER SCIENCE

(5—“8"39 LOHMILD %lﬁléﬂm QJ@ / Tamil & English Version )

&Ted Sfarey : 3.00 wenfl CHrwb ]
Time Allowed : 3.00 Hours ]
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Instructions :

GO : () ewensg eNanmés(na@tb a&]e&mumﬂé;a;myb.

@

(1)

sflurisgs Qaretera)b. wFstILSeNd GopuUmLear, Dmné
sansrenilliumerfLib 2 Lanqguings Ggfeléseb.

Boob widwgy amUy owloa wLECW T(PSIUSHGLD,
A Carg QausdEn LwuaL@ss Caam@b. ULkSET amrausHE
Guendled eSS L. '

Check the question paper for fairness of printing. If there is any lack of
) fairness, inform the Hall Supervisor immediately.
Ot 2zosgya

. @

Do Ul \55 - \J \iﬁ; LYRCYs i 3 :
ue or Black irik to wf'itek’énd underline and pencil to draw diagrams.
L@&S - 1/ PART - 1.

15x1=15

@ Qer@ésuul@erer wrHm el sl Wsayb FhyenLw
dlenLeowsg CombOs0555 GRS G e Qevamuyd Gaiiggy

Notf\ ¢ (i)

T(PSQLD.

Answer all the questions.

\ (i) Choose the most appropriate answer from the given four alternatives and
\ write the option code and the corresponding answer.
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1.

Gereud erg senflafll Qurfsafan aquumua; 8;|_®LDFI'66T QerEdwurs
aﬁlmmgﬁmmgﬂ ? =

(o) Qeugipy (<) Sty (@) gaoartlyed (7)) @oLpsid
Which is the basic building block of computer programs ?
(a) Argument (b) Parameter () Subroutine (d) Interface

QeupmieT eThE QFLDIMISET H(HAULTESD STe| CUMSM 2 (HEUTEGEMDSG! ?
(1) BSGUUI'GTDI_IIGSL.ITGID (Constructors (Q%) gueu (Data)

(@) List ’ (FF) Tuple
Which functions build the abstract data type ?

(a) Constructors (b) Data
(c) |List (d) Tuple

wrdlufer Quweny e Qun@@l_m Yeremé@o Qawepammen Qeueurm)
SIOWPESUUHID :

(=) auempQudena () Gl (@) Namespaces . () Flenarousid
The process of binding a variable name with an object is called :
(@) Scope (b) Mapping (c) Namespaces (d) Memory

Apdlepenpudien Gy Qewodipanar siareilGeugne WWemauhaameupmIeT 6rgl G
STrewt jee ? '

(=) Qupdlysdlen Caisid www.kalviexpress.in;

(<)) Qwss Sienwiiy . g

(@) vweau@ssuulL flyorss Qumd

() CaipEs®uy

Which one of the following is not a factor to measure the execution time of an
algorithm ?

(@) Speed of the machine

(b) Operating system

(c) Programming language used
(d) Selection
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euggren evdlflulmL Quiss erhg efansamu <ipss Cauam@L ?

(1) E5 (<) F2 (@) F1 (w) F3
Which key is pressed to execute Python Script ?
(@) F5 ®) F2 (© F1 (4 F3

ThHS sppreng wLsdlar Wsuperer GhHpapew s6ifEg ADSS LLES
Qewene < Tb9&@GL ?

(<) break (<4,) pass (@) continue (FF) null
Which statement is used to skip the remaining part of the loop and start with next
iteration ?

(a) break (b) pass (c) continue (d) null

Cswpsany AsrEdHow aps ApiiLstsred Asrnd mausdng ?

(<) define (<) def (@) finally (rF) for
Which of the following keyword is used to begin the function block ?
(a) define (b) def (c) finally (d) for

www. kalviexpress.in
ougsraile, aps QeupEh AsT@EsLULL Frfmean LS MmaUGET
Qaueliu(®ss LweTL®E D ?
(1) * (Aumése) () + (mLlLed)
(8) - (sps5e) (r) / (uEsse®)
In Python, which operator is used to display a string in multiple number of times ?
(@) * (multiplication) (b) + (addition)

(c) - (subtraction) (d) / (division)

[ HmLiys/Turn over
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9.

10.

11.

12.

Marks = [20, 40, 60, 80, 100]
print(Marks[-2])
@sen Qeualui@® eremen ?

(<=1) 60 (<2p) 100 (@) 40 () 80
Marks = [20, 40, 60, 80, 100] )
print(Marks[-2]) WWW. kalviexl‘-"'ess e
What will be the output ?

@@) 60 () 100 () 40 (d) 80

@ussrafler, Wereumeuareupper erhs @eéEwp <ifledly sflwrerg ?
(<=4) class class_name : (=) class class_name< >

(@) class class_name (FF) class class_name][ ]
In Python, which of the following class declaration is correct ?
(@) class class_name : (b) class class_name< >

(¢) class class_name (d) class class_name] ]

2 pejblened greyser wIAHM Wseipsaier o (Heursdwieur :

(<=1) C.D. Darween (<) Chris Date
(8) E.F. Codd | ) Hugh Darween
The Relational-Database model was firsf prbposed by :

(a) C.D. Darween (b) Chris Date

(c) E.F.Codd (d) Hugh Darween

Qeupmer erg SQL grey sLHuum( Qurfudler s L enemuim@n ?

(1) Alter (<) Grant (@) Truncate (¥F) Commit
Which is a Data Control Language command in SQL ?

(a) Alter (b) Grant () Truncate (d) Commit




13.

14.

15.

16.

17.

5 4223 (NS)
CSV -a edfloun&sid -

(<1) Comma Separated Values (<s4,) Condition Separated Values

(@) Comma Special Values (r) Condition Special Values
CSV is expanded as :

(@) Comma Separated Values (b)
(c) Comma Special Values (d)

Condition Separated Values
Condition Special Values

T ' Www. kal ;
QeuppieT 68 @ scripting Gomfluide ? viexpress.ijp

(=1) @9 (Ruby) (<) DBMS
(@) Quied (Perl) (/) ggreumrevdflii (JavaScript)
- Which of the following is not a scripting language ?
(@) Ruby () DBMS
() Perl (d) JavaScript
R RE e

A,;,-‘

eTBS SQL &miy &memaﬁuﬂ@mm aflenesafien eramenilisensamwu HmLd
@I ?

(=1) SUM() (=) MAX() (®) CHECK() (rF) COUNT()
Which SQL function returns the number of rows in a table ?
(@) SUM() (b) MAX() () CHECK() (d) COUNT()

U@ - 11/ PART - II
gGasamib o eamsaEnse ela walléseyb wHmb efemr cream 24 -5
sLLmuwns e well&sEeab. 6x2=12
Answer any six from the following questions. Q. No. 24 is compulsory.
@eLasdlen LaTLEMeT LIl g el {Ha.

List the characteristics of interface.

QgrgdHulden L udwdLsHET Wrena ?

What are the characteristics of modules ?

[ $wliys/Turn over
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18.

19.

20.

21.

22.

23.

24.

ausstafled eNdemaser erammme erene ? Sieuhblen cuanasament) LI gwel(HS.

What are tokens in Python ? List the types.

UGS TE repllace() uwerr wirgl ? replace() Qzrfwene 6r(pg)s.

What is the use of replace( ) in Python ? Write the general format of replace( ).

@ussrafler List -g 2 meurss Qpmfwd LOHMID SE&HS 6T(HSSIEETLIqenET
T(PEIS.

Write the syntax to create list with suitable example in Python.

www. kalviexpress.:n

7

DBMS -6 Hlenmaar wreneu ?

What are the advantages of DBMS ?

augsrailan CSV Carinlaman Ligés Gram() uflWpernser wrene ?

What are the two ways to read a CSV file in Python ?

Matplotlib -6 2 érer s ALL@SsSen cumssaner UL iq Wl (.

List the types of visualizations in Matplotlib.

Lwenm euenyumid@o Qewnanmseafen BEIENLOEET WTeneu ?

What are the advantages of user-defined functions ?



25.

26.

27.

28.

29.

30.

7 4223 (NS)

L@ - 11/ PART - 11T

_5@

aCsemib syn NamssEnEs efaLwelbsa|d whmb eferr crem 33 -
6x3=

sL_Lmuwng e weallésea|b.
Answer any six from the following. Question number 33 is compulsory.
(=) QeELIT eTerpmed GTEmE ?
(<) Blrellen LGHlaer wreneu ?

(@) What is a selector ?

(b) What are the parts of a program ?
www. kalviexpress.in

Quiug plrersaseansl upd Ay GO euers.

Write note on Dynamic Programming.

Gerremeomen if..elif...else sapilen QerMwieh wHMID THSHSETLDL 6T(PSIE.

Write the syntax of Nested if..elif...else statement with example.

emuggraflen public LOHMID private Srey 2 miLseneTt) LB Sy GOILIY euars.

Write short note on public and private data members in Python.

DBMS uwenisafler euanssamers upi GHILIY cuears.

Write note on types of DBMS users.

SQL -éb 2_erer DELETE, TRUNCATE, DROP &L L eneris i Sy @I cueniys.

Write short note on DELETE, TRUNCATE, DROP command in SQL.

[ HBLLs/Turn over
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26.

27.

28.

29.

30.

7 4223 (NS)

L@ - 11/ PART - I11

aCaeb m NaTésEssEE e wallssalb HHMID cllewrm eramm 33 -&@&
sLLmuwrs e welléEsab. 6x3=18

Answer any six from the following. Question number 33 is compulsory.
(=1) QFELIT crammed eTemam ?
(<=1) Biredler uGHser wreneu ?

(a) What is a selector ?

(b) What are the parts of a program ?
www. kalviexpress.in

Bt AF @ fo

Qurig flrersssmstt upi Any GHLUIL euers.

Write note on Dynamic Programming.

enemeoman if..elif...else SpPlen QgrMwe wHOID THSHSSTLEODL 6T(PSIS.

Write the syntax of Nested if..elif...else statement with example.

eugsraflen public LHMID private 76y & MILIL|SMETL upd Ay GOILY euenys.

Write short note on public and private data members in Python.

DBMS Liwenigefer cuanssaer) upil GollY euers.

Write note on types of DBMS users.

SQL -é o arer DELETE, TRUNCATE, DROP &L Lenerls Lupml Sm @O cuenys.
Write short note on DELETE, TRUNCATE, DROP command in SQL.

[ HBLiys/ Turn over
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8
31. Scripting Qumfseflen LweTLrGET Wreneu ?
What are the applications of scripting languages ?
32. SQL -& (1) GROUP BY (<) ORDER BY gianewr Hlanavés aamy Lipd Sm GO
cUENTS. '
Write short note on :
(a) GROUP BY (b) ORDER BY clause - in SQL
33.

QsrdstulGerer euggren Hireder Qouafu g amen TGS
a="“Computer” 1

b="Science”
x=a[:4]+b[len(b)-3:]
print(x)

Www.kalviexpress.in

What will be the output of the given Python program ?
a="Computer”

b="Science”
x=a[:4]+b[len(b)-3:]
print(x)
u@$ - IV/PART - IV
s edammsaEhs@n elan wallGsaw.

5x5=25
Answer the following questions.

34. (=) wrhler auerQuedme cuamssmert uHM eleuflEseayw.
{60608
(<=1) wussTaien Fra aumssmaT GHS T HSHSETLHL6m efleuflésab.
(@) Explain the types of variable scope.

OR
(b) Explain data types in Python with suitable example.
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35. (=) Yemeu(mib DUSE T

@) i Brésafier Qeualluiiqenar THEIS.
while(j>=10):
Print(j, end:'\t')
)=5-1
else:
Print(“\n End of &
() kes of the loop”)
while'(k<=9);

foriin range(1, k):
print(i, end="\t') -

print(end="\n) Www. ka'V'eXpreSS st

k=k+1
_ ALV

(=) Geémeumin OUSSTe Qewpammiseers up (PSS

(i) capitalize( )

(i1) swapcase( )

(iii) center()

(iv) islower()

(v) title()
(@) Write the output for the following Python programs.
(@ =15

while(j>=10):
print(j, end="\t')
j=-1
else:
print(“\n End of the loop”)
(i) k=5
while(k<=9):
for i in range(1, k):
print(i, end="\t")
print(end="\n")
k=k+1
OR
(b) Write about the following Python string functions.
(i) capitalize( )
(i) swapcase( )
(i) center()
(iv) islower()
(v) ttle()

[ $muys/Turn over
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36. (=1) &Gy GQar@ssuu@erer Qaeliligear Qup Gereumb @USSTEN
Biredlen Qenpaenar HmsH er(ps6id.
QeuaflS® :
Inside add( ) function x value is : 10

In main x value is : 10

Hiyev :

x=0 www. kalviexpress.in
define add:

globally x:

x=x+10

print(“Inside add( ) function x value is :”)

add

print(“In main x value is ;")

3160605
() wugsraie set erampred eraan ? Wemeumid set QewpuTrBsamer SGHS
TOEHSET_HLen efeufssayb.
() Gsly (Union)
(i) Geul@ (Intersection)
(i) Geumur® (Difference)

(@) Debug the following Python program to get the given output :
Output:

Inside add( ) function x value is : 10
In main x value is : 10

Program:
=0
define add:
globally x:
x=x+10
print(“Inside add( ) function x value is :”)
add
print(“In main x value is ")
OR
(b) Whatis setin Python? Explain the following set operations with suitable example.
(i) Union

(i) Intersection
(iii) Difference
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37, (o) @ugmrea ppdbfmer nHoid onPAO9aar uphl BEbhs TOHHBHT (e
aheufléaeb.

S0
(<) srey wrHAdern euerssemars updl efleuflssab.
(a)  Explain about constructors and destructors in Python with suitable example.
OR
(b)  Explain the types of data model.

38. (=) SQL -ém s HLur(pseaiier cumasseear aBsmssM_HLear elauflssa)b.
SV6VG)
(<21,) CSV whmib excel sheets (XLS) Gamiys@pédaCGu o drar Gaupgur@sear
ULl g well(s.
(a) Explain the types of constraints in SQL with suitable example.
OR
(b) List the differences between CSV and excel sheets (XLS) file.

-00o0-
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